INSTRUCTION
MANUAL

eeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeee



GOT YOUR BACK!
Do NOT return this item without contacting. If you're confused during any step of the

assembly, just contact us, we are always here to help you!

twitter

Facebook
( amazon % [A||-| IWMH A Categores

Q]]

Before installation

1. Read each step carefully before starting. Ensure each step followed in correct order, or
you may meet assembly problem.

2. Please check if there are missing parts from the package before beginning. Should there
be any issues, please don't hesitate to drop us an email and we'll help you out ASAP.

3. Do not use power tools to assemble your fumiture which may scratch or damage the parts.

4. Our chairs are handmade, and there will be 10% sampling installation test beofore the
factory, so if there are installed signs or marks on the the screws or screw holes, please
understand that it is not second-hand product and have no effect on use.

5. It is normal for the metal legs products to make noise during use.

6. Itis recommended to wear clean gloves during installation to avoid any injury and prevent
the oil stains of the parts from affecting the chair surface.

7. During the installation process, please do not tighten the screws together until all of them
are aligned to avoid assembly problem.



2 x Single chair

1 x Coffee table

PARTS LIST

: Single chair right leg

: Single chair left leg

r—/—\ 1PC

: Single chair cushion

: Single chair backrest

: Single chair left / right armrest

: M6 x 30 screw

: M6 x 35 screw

: M6 x 55 screw

: M6 x 55 screw + nut

: Coffee table left / right support

: Desktop support

: Bottom fixing rod

: Coffee table glass

1 M6 x 25 screw

: M6 x 15 screw

. Iron washers

: Inatall tool

. Inatall tool

= 1PC
Q\ 1PC

E 1PC
% 2PCS
1) 6 2PCS

1) 6 mmmmm 4PCS
() @ oD 4PCS

B 2pcs

1PC
(Y 4PCS
@)vm\‘mm 4PCS

8PCS

Pg.1



Pg.2

SINGLE CHAIR ASSEMBLY STEPS

® (‘D x 4



I X 2

B X2

@ 1) @D



COFFEE TABLE ASSEMBLY STEPS

T~

®@-x2 @x2

N o= x2 (@ © x2



® o= x4 © © x4






